SHOLE ITREBEE 53 A oy

" & BBAR—YI5T

£ x FBEE —8

OUNADER
=] B & %8 ZEN (Bl - ABSE)
A A= T74—LR(FHRASE)
AR &£ 10,000F 5,000/ % 2 A =10,000
£ = £ 30,000 {RI&$I% 3,000/ x 10 A =30,000M
RKESMEEIL-FBEMHHL
3 IEG=E: D) 138,000 INFH 1,000 x 124 B x 7\ =84,000
KA :1,500M x 124 H x 3 A =54,000M
z DO B
=t 178,000
OXZHDER
] B ird L] 2EN (Bl - AES)
wm B & 24,000 2,000 x 124 B x 1 A =24,000M
N . A2 AL 4000
B R R R 14,000 DA Luft 5.000f X 2A =10 000
BEEHRE 20,000 EREH., |EEF 20,000
T - B Sk 30,000 3,000 % 10\ =30,000M
A B K 30,000 AR—YFHAEEA 30,000M
= i ;?; A % 25,000 RS M#E 5000M x 5[ =25000M
O b 5,000 RAHY - FEF-F LUK 5000H
INA-KHOEE| B
&t 148,000H BEFEOIRAIZE EL TG
R M & 30,000 =1




THOFE NRERES

M ® %

R %= &

OINA DR

2] E| & (L

=

R (Bl ABH)

A= &

£ = £

S0k (A &)

£ O b

E s

O HDEB

] = & % IR (Bl AR

i
Jm
&

ot I
|_\_+_
jun

N
S
=




